

VIM for Determining Unknown Source Parameter in Parabolic Equations

V. Eskandari *and M. Hedavand

Education and Training, Dourod, Iran, E-mail: veskandari.se@gmail.com (Received August 26, 2015, accepted December 11, 2015)

Abstract. In this paper, an application of the variational iteration method (VIM) is presented. This technique provides a sequence of function which converges to the exact solution of the problem. The main property of the method is in its flexibility and ability to solve nonlinear equation accurately and conveniently. For solving the discussed inverse problem, at first we transform it into a nonlinear direct problem then use the proposed method. Numerical examples are examined to show the efficiency of the technique.

Keywords: VIM; inverse parabolic problem; unknown source parameter; additional condition.

1. Introduction

In this paper, VIM is presented as an alternative method for simultaneously finding the time-dependent source parameter and the temperature distribution in one-dimensional heat equation.

Consider the parabolic equation:

$$u_{t} = u_{xx} + a(t)u + f(x,t); \qquad 0 < x < \infty, \quad 0 < t < T,$$
(1)

with unknown coefficient a(t). Impose the initial and boundary condition:

$$u(x,0) = \varphi(x); \qquad 0 \le x < \infty, \tag{2}$$

$$u(0,t) = g(t); \qquad 0 \le t \le T$$
, (3)

and the additional condition:

$$-u_x(0,t) = E(t); \qquad 0 \le t \le T,$$
(4)

where T > 0 is final time and φ , f, g and E are known functions. If u is a temperature then (1)-(4) can be regarded as a control problem finding the control a(t) such that the internal constraint is satisfied. If a(t) is known then direct initial-boundary value problem (1)-(4) has a unique smooth solution u(x, t) [4]. For the existence and uniqueness of solutions of these inverse problems and also more applications, the reader can refer to [3, 4, 6, 12, 13, 17].

The VIM is a powerful tool to searching for approximate solutions of nonlinear equation without requirement of linearization or perturbation. This method, which was first proposed by He [7, 8] in 1998, has been proved by many authors to be a powerful mathematical tool for various kinds of nonlinear problems [1, 2, 15, 19]. The interested reader can see [9, 10, 14] for some other applications of the method.

The rest of this paper is organized as follows: In Section 2, the variational iteration method is reviewed. In Section 3, application of the VIM is presented to solve the discussed inverse problem. In Section 4, several numerical examples are presented to confirm the accuracy and efficiency of the new method and finally a conclusion is presented in Section 5.

2. Basic idea of the variational iteration method

To illustrate its basic concepts of VIM, we consider the following general nonlinear differential equation:

$$Lu(t) + Nu(t) = f(t), \tag{5}$$

where L and N are linear and nonlinear operators, respectively and f is source or sink term. According to VIM [1, 2, 7-10, 14, 15, 19], we can write down following correction functional:

$$u_{n+1}(t) = u_n(t) + \int_0^t \lambda(t,\tau) \{ Lu_n(\tau) + N\tilde{u}_n(\tau) - f(\tau) \} d\tau; \quad n \ge 0,$$
(6)

where λ is general Lagrange multiplier [11], which can be identified optimally via the variational theory [7, 8]. The subscript *n* denotes the *n*th order approximation and is considered as restricted variation [7, 8] which means $\delta \tilde{u}_n = 0$.

It is required first to determine the Lagrange multiplier. Employing the restricted variation in correction functional and using integration by part makes it easy to compute the Lagrange multiplier, see for instance [8].

For linear problems, its exact solution can be obtain by only one iteration step due to the fact that, no nonlinear exist so the Lagrange multiplier can be exactly identified.

Assuming $u_0(t)$ is the solution of Lu = 0. Having λ determined, then several approximations $u_{n+1}(t)$; $n \ge 0$, can be determined.

We will rewrite equation (6) in the operator form as follows:

$$u_{n+1}(t) = A[u_n],$$

where the operator A takes the following form:

$$A[u(t)] = u(t) + \int_0^t \lambda(t,\tau) \{Lu(\tau) + Nu(\tau) - f(\tau)\} d\tau.$$

Theorem. Let $(X, \|.\|)$ be a Banach space and $A: X \to X$ is a nonlinear mapping and suppose that:

$$\left\|A\left[u\right] - A\left[\tilde{u}\right]\right\| \leq \gamma \left\|u - \tilde{u}\right\|, \quad u, \tilde{u} \in X ,$$

for some constant \mathcal{V} . Then, A has a unique fixed point. Furthermore, the sequence (6) using VIM with an arbitrary choice of $u_0 \in X$, converges to the fixed point of A and

$$\|u_n - u_m\| \leq \|u_1 - u_0\| \sum_{j=m-1}^{n-2} \gamma^j.$$

Proof: See [16].

Consequently, the exact solution may be obtained by using the Banach's fixed point Theorem [16]:

$$u = \lim_{n \to \infty} u_n$$
.

According to the above theorem, a sufficient condition for the convergence of the VIM is strictly contraction of A. Furthermore, sequence (6) converges to the fixed point of A, which is also the solution of the equation (5). Also, the rate of convergence depends on γ .

3. Application

In this section, the VIM is used for solving the problem (1)-(4). In order to solve this problem by using VIM, we require transforming the problem with only one unknown function. This transformation is proposed by Cannon, Lin and Xu [5]. According to this procedure the term a(t) in (1) is eliminated by introducing some transformation and system (1)-(4) is written in the canonical.

This procedure is as follows: the term a(t) in (1) eliminated by introducing the following transformation:

$$r(t) = \exp\{-\int_0^t a(s)ds\},$$
 (7)

$$w(x,t) = u(x,t)r(t).$$
 (8)

Thus, we have:

$$u(x,t) = \frac{w(x,t)}{r(t)}, \qquad a(t) = \frac{-r'(t)}{r(t)}.$$
(9)

We reduce the original inverse problem (1)-(4) to the following auxiliary direct problem:

$$w_t = w_{xx} + r(t)f(x,t); \quad 0 < x < \infty, \quad 0 < t < T,$$
(10)

$$w(x,0) = \varphi(x); \qquad 0 \le x < \infty, \tag{11}$$

$$w(0,t) = g(t)r(t); \quad 0 \le t \le T,$$
 (12)

Subject to:

JIC email for contribution: editor@jic.org.uk

$$r(t) = -\frac{w_x(0,t)}{E(t)}; \qquad 0 \le t \le T.$$
(13)

This system can be solved by VIM. Now, we can write following correction functional:

$$w_{n+1}(x,t) = w_n(x,t) + \int_0^t \lambda(t,\tau) \{ w_{n\tau}(x,\tau) - \tilde{w}_{nxx}(x,\tau) + \frac{\tilde{w}_x(0,\tau)}{E(\tau)} f(x,\tau) \} d\tau; \quad n \ge 0.$$

Making the above correction functional stationary, note that $\delta \tilde{w}_n(x,t) = 0$, we

have:
$$\delta W_{n+1}(x,t) = \delta W_n(x,t) + \delta \int_0^t \lambda(t,\tau) \{ W_{n\tau}(x,\tau) - \tilde{W}_{nxx}(x,\tau) + \frac{\tilde{W}_x(0,\tau)}{E(\tau)} f(x,\tau) \} d\tau.$$

Therefore:

$$\delta w_{n+1}(x,t) = \delta w_n(x,t) + \delta \int_0^t \lambda(t,\tau) \{ w_{n\tau}(x,\tau) \} d\tau.$$

Thus, its stationary condition can be obtained as follow:

$$\begin{cases} \lambda'(t,\tau) = 0, \\ 1 + \lambda(t,\tau) \mid_{\tau=t} = 0. \end{cases}$$

Therefore $\lambda(t, \tau) = -1$.

Note that $\delta w_n(x,0) = 0$. Now, the following iteration formula can be obtained as:

$$w_{n+1}(x,t) = w_n(x,t) - \int_0^t \{w_{n\tau}(x,\tau) - w_{nxx}(x,\tau) + \frac{\tilde{w}_x(0,\tau)}{E(\tau)}f(x,\tau)\}d\tau; \quad n \ge 0.$$
(14)

According to Adomian's decomposition method in *t* -direction which is equivalent to the VIM in *t* - direction [18], we choose its initial approximate solution as $w_0(x,t) = w(x,0)$. Having $w = \lim_{n \to \infty} w_n$ determined [16], then the unknown (u, a) can be calculated by using the equation (9). If the exact solution of *w* is not obtainable, it was found that a few number of approximations can be used for numerical purposes.

4. Numerical results

In this section we report some results of our numerical calculations using the numerical procedures described in the previous section.

Example 1:

We consider the following inverse problem:

$$u_{t} = u_{xx} + a(t)u + \exp(x+t); \quad x > 0, \quad 0 < t < 1,$$

$$u(x,0) = \exp(x); \quad x \ge 0,$$

$$u(0,t) = \exp(t); \quad 0 < t < 1,$$

$$-u_{x}(0,t) = \exp(t); \quad 0 < t < 1.$$

The true solution is u(x, t) = exp(x+t) while a(t) = 1.

Let
$$W_0(x,t) = W(x,0) = \exp(x)$$
.

By using the equation (14), we obtain:

$$w_1(x,t) = \exp(x),$$

$$w_2(x,t) = w_1(x,t).$$

Thus:

$$w = \lim_{n \to \infty} w_n = \exp(\mathbf{x}).$$

Therefore, we obtain a series which is convergent to the exact solution of the problem (10)-(13). Also from (13), we can obtain:

$$r(t) = \exp(-t)$$
.

Thus, using (9) we obtain:

$$u(\mathbf{x},\mathbf{t}) = \exp(\mathbf{x}+\mathbf{t}),$$

$$a(t) = 1$$

which is equal to the exact solution of this example. From this example, it can be seen that the exact solution is obtain by using one iteration step only.

Example 2:

We consider the following inverse problem:

$$u_{t} = u_{xx} + a(t)u; \quad x > 0, \quad 0 < t < 1,$$

$$u(x,0) = \cos(x) - \sin(x); \quad x \ge 0,$$

$$u(0,t) = \exp(\frac{t^{2}}{2} - t); \quad 0 < t < 1,$$

$$-u_{x}(0,t) = \exp(\frac{t^{2}}{2} - t); \quad 0 < t < 1.$$

The true solution is $u(x,t) = \exp(\frac{t^2}{2} - t)(\cos(x) - \sin(x))$ while a(t) = -t.

Let $w_0(x,t) = w(x,0) = \cos(x) - \sin(x)$.

By using the equation (14), we obtain:

$$w_1(x,t) = (\cos(x) - \sin(x)) - t(\cos(x) - \sin(x)),$$

$$w_{2}(x,t) = (\cos(x) - \sin(x)) - t(\cos(x) - \sin(x)) + \frac{1}{2}t^{2}(\cos(x) - \sin(x)),$$

$$w_{3}(x,t) = (\cos(x) - \sin(x)) - t(\cos(x) - \sin(x)) + \frac{1}{2}t^{2}(\cos(x) - \sin(x)) - \frac{1}{6}t^{3}(\cos(x) - \sin(x))$$

$$\vdots$$

$$w_n(x,t) = (\cos(x) - \sin(x)) - t(\cos(x) - \sin(x)) + \frac{1}{2}t^2(\cos(x) - \sin(x)) + \dots + (-1)^n \frac{1}{n!}t^n(\cos(x) - \sin(x)).$$

We know that $w_n(x,t) = (1-t+\frac{1}{2}t^2+\dots+(-1)^n\frac{1}{n!}t^n)$ is the *n* order Taylor series of exp(-t). Now sing the fact that:

using the fact that:

$$w = \lim_{n \to \infty} w_n,$$

that leads to the exact solution:

$$w(x,t) = \exp(-t)(\cos(x) - \sin(x)).$$

Therefore, we obtain a series which is convergent to the exact solution of the problem (10)-(13). Also from (13), we can obtain:

$$r(t) = \exp(-\frac{t^2}{2} + 2t).$$

Thus, using (9) we obtain:

$$u(x, t) = \exp(\frac{t^2}{2} - t)(\cos(x) - \sin(x)),$$

 $a(t) = -t.$

This is equal to the exact solution of this example. **Example 3:**

Solve the following inverse problem:

$$u_{t} = u_{xx} + a(t)u + (\pi^{2} + 2t)\exp(t)\cos(\pi x); \qquad x > 0, \quad 0 < t < 1,$$

$$u(x, 0) = x + \cos(\pi x); \qquad x \ge 0,$$

$$u(0, t) = \exp(t); \qquad 0 \le t \le 1,$$

$$-u_{x}(0, t) = -\exp(t); \qquad 0 \le t \le 1.$$
The true solution is $u(x, t) = \exp(t)(x + \cos(\pi x))$ while $a(t) = 1 - 2t$.

JIC email for contribution: editor@jic.org.uk

We can select $W_0(x,t) = w(x,0) = x + \cos(\pi x)$; by using the given initial value. According to (14), one can obtain the successive approximations $W_n(x,t)$ of W(x,t) as follow:

$$w_{1}(x,t) = (x + \cos(\pi x)) + t^{2}(x + \cos(\pi x)),$$

$$w_{2}(x,t) = (x + \cos(\pi x)) + t^{2}(x + \cos(\pi x)) + \frac{t^{4}}{2}(x + \cos(\pi x)),$$

$$w_{3}(x,t) = (x + \cos(\pi x)) + t^{2}(x + \cos(\pi x)) + \frac{t^{4}}{2}(x + \cos(\pi x)) + \frac{t^{6}}{6}(x + \cos(\pi x)),$$

:

 $W_n(x,t) = (x + \cos(\pi x)) + t^2(x + \cos(\pi x)) + \frac{t^4}{2}(x + \cos(\pi x)) + \dots + \frac{t^{2n}}{n!}(x + \cos(\pi x)).$

We know that $(1 + t^2 + \frac{t^4}{2} + \dots + \frac{t^{2n}}{n!})$ is the *n* th order Taylor series of $\exp(t^2)$. Now using the fact that:

$$w = \lim_{n \to \infty} w_n,$$

that leads to the exact solution:

$$w(\mathbf{x}, \mathbf{t}) = \exp(\mathbf{t}^2)(\mathbf{x} + \cos(\pi \mathbf{x}))$$

Therefore, we obtain a series which is convergent to the exact solution of the problem (10)-(13). Also from (13), we can obtain:

$$r(t) = \exp(t^2 - t)$$

Thus, using (9) we obtain:

$$u(x,t) = \exp(t)(x + \cos(\pi x)),$$
$$a(t) = 1 - 2t$$

which is equal to the exact solution of this example.

Example 4:

We solve the problem (1)-(4) as:

$$\begin{split} u_t = u_{xx} + a(t)u + 1 - \sin(t)(x+t); & x > 0, \quad 0 < t < 1, \\ u(x,0) = x; & x \ge 0, \\ u(0,t) = t; & 0 \le t \le 1, \\ -u_x(0,t) = -1; & 0 \le t \le 1. \end{split}$$

for which the exact solution is u(x,t) = x + t and a(t) = sin(t).

We can select $W_0(x,t) = x$; by using the given initial value. According to (14), one can obtain the successive approximations $W_n(x, t)$ of W(x, t) as follow:

$$w_{1}(x,t) = t + \cos(t)(x+t) - \sin(t),$$

$$w_{2}(x,t) = -\frac{1}{4}t + \frac{1}{2}x + \frac{1}{2}\cos^{2}(t)(x+t) - \frac{1}{4}\sin(t)\cos(t).$$

And the rest of the components of iteration formula (14) are obtained using the Maple 13Package. Now form (13), we can obtain the successive approximations $r_n(t)$ of r(t) as:

$$r_n(\mathbf{t}) = -\frac{w_{nxx}(0,\mathbf{t})}{E(\mathbf{t})}.$$

Finally, using (9), we can obtain the successive approximations $u_n(x,t)$ of u(x,t) and $a_n(t)$ of a(t) as following: 100

$$u_n(\mathbf{x}, \mathbf{t}) = \frac{w_n(\mathbf{x}, \mathbf{t})}{r_n(\mathbf{t})}, \qquad a_n(\mathbf{t}) = \frac{-r'_n(\mathbf{t})}{r_n(\mathbf{t})}.$$

The obtained numerical results are summarized in Tables 1 and 2. In addition, the graphs of the error functions $|u - u_8|$ and $|a - a_8|$ are plotted in Figure 1.

I	$ u-u_2 $	$ u - u_4 $	$ u - u_6 $	$ u-u_8 $	$ u - u_{10} $	
0.0	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
1.5	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
3.0	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
4.5	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
6.0	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
7.5	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	
9.0	8.856E-4	5.966E-7	2.066E-10	4.234E-14	5.600E-18	

Table 1. Absolute errors of u_n at t = 0.5 for Example 4.

Table 2: Absolute errors of a_n for Example 4.

t	$ a-a_2 $	$ a-a_4 $	$ a-a_6 $	$ a-a_8 $	$ a - a_{10} $		
0.2	4.026E-4	1.334E-7	1.765E-10	1.300E-13	1.001E-18		
0.4	1.312E-3	6.817E-7	1.416E-10	1.575E-13	1.081E-18		
0.6	1.024E-2	2.607E-5	2.651E-8	1.444E-11	1.896E-15		
0.8	4.442E-2	3.425E-4	1.050E-6	1.725E-9	1.763E-12		



5. Conclusion

In the present work, we have demonstrated the applicability of the VIM for solving a class of parabolic inverse problem. The illustrative examples show the efficiency of the method. This method provides the solutions of the problems in closed form, Moreover, by using only one iteration step; we may get the exact solution. It can be concluded that the VIM is a very powerful and relatively easy tool for solving inverse heat problem.

6. References

- [1] Abdou, M. A., Soliman, A. A., Variational iteration method for solving Burger's and coupled Burger's equations, J. Comput. Appl. Math., 181 (2) (2005), 245-251.
- [2] Akmaz, H. K., Variational iteration method for elastodynamic Green's function, Non-linear Analysis, 71 (2009), 218-223.
- [3] Baran, E. C., Numerical procedures for determining of an unknown parameter in parabolic equation, Appl. Math.

Comput., 162 (2005), 1219-1226.

- [4] Cannon, J. R., The One-Dimensional Heat Equation, Addison Wesley, Reading, MA, 1984.
- [5] Cannon, J. R., Lin, Y., Xu, S., Numerical procedures for determination of an unknown coefficient in semi-linear parabolic differential equation, Inverse Problems, 10 (1994), 227-243.
- [6] Colton, D., Ewing, R., Rundell, W., Inverse Problems in Partial Differential Equation, SIAM, Philadelphia, PA, 1990.
- [7] He, J. H., Approximate analytical solution for seepage flow with fractional derivatives in porous media, Comput. Methods Appl. Mech. Eng., 167 (1998), 57-68.
- [8] He, J. H., Approximate solution of non-linear differential equations with convolution product non-linearities, Comput. Methods Appl. Mech. Eng., 167 (1998), 69-73.
- [9] He, J. H., Wu, G. C., Austin, F., The variational iteration method which should be followed, Non-linear Sci. Lett., 1 (2010), 1-30.
- [10] He, J. H., Wu, X. H., Variational iteration method: New development and applications, Comput. Math. Appl., 54 (2007), 881-894.
- [11] Inokuti, M., Sekine, H., Mura, T., General use of the Lagrange multiplier in nonlinear mathematical physics, Variational Method in the Mechanics of Solids, Pergamon Press, NewYork, 1978, pp. 159-162.
- [12] MacBain, J. A., Bednar, J. B., Existence and uniqueness properties for one-dimensional magnetotellurics inversion problem, J. Math. Phys., 27 (1986), 645-649.
- [13] Shidfar, A., Tavakoli, K., An inverse heat conduction problem, Southeast Asian Bulletin of Mathematics, 26 (3) (2003), 503-507.
- [14] Shou, D. H., He, J. H., Beyond Adomian method: The variational iteration method for solving heat-like and wavelike equations with variable coefficients, Phys. Lett., 372 (2008), 233-237.
- [15] Soliman, A. A., A numerical simulation and explicit solutions of KdV-Burgers and Lax's seventh-order KdV equations, Chaos Solitons Fractals, 29 (2) (2006), 294-302.
- [16] Tatari, M., Dehghan, M., On the convergence of He's variational iteration method, J. Comput. Appl. Math., 207 (2007), 121-128.
- [17] Wanga, W., Hana, B., Yamamotob, M., Inverse heat problem of determining time-dependent source parameter in reproducing kernel space, nonlinear Analysis: real world applications, 14 (2013), 875-887.
- [18] Wazwaz, A. M., A comparison between the variational iteration method and Adomian decomposition method, Journal of Computational and Applied Mathematics, 207 (1) (2007), 129-139.
- [19] Xu, L., The variational iteration method for fourth order boundary value problems, Chaos Solitons and Fractals, 39 (2009), 1386-1394.